

HERMITE INTERPOLATING SERIES

MARILENA JIANU

ABSTRACT. The paper introduces a new type of polynomial series (*Hermite interpolating series*). If $f(x)$ represents the sum of such a series, then its full-Hermite interpolating polynomials are partial sums of this series. We state and prove sufficient conditions for a function and its derivatives to be representable as Hermite interpolating series.

Mathematics Subject Classification (2010): 41A05, 41A10

Key words: Hermite interpolation, analytic functions, boundary-value problems.

Article history:

Received: October 26, 2024

Received in revised form: December 20, 2024

Accepted: December 24, 2024

1. INTRODUCTION

Interpolating polynomials are a very useful tool in the approximation of functions and, as Philip Davis remarks in [4], “the flame of interest in interpolation and approximation has burned brighter” as the automatic calculation speed highly increased. When these polynomials represent partial sums of some uniformly convergent series, they can be successfully used to approximate the solution of ordinary differential equations. The Taylor polynomial (corresponding to Taylor series) is often used for initial-value problems, when the solution is supposed to be analytic. However, for boundary-value problems, the Newton polynomial (corresponding to Newton series) is a more adequate instrument, either using an infinite sequence of distinct points (see [8, 9]) or a periodic sequence on a finite set of points (see [7]).

Hermite interpolating polynomial generalizes both the Newton (Lagrange) polynomial and the Taylor polynomial, as it makes use of the values of the function and its derivatives at several points. When only the values of the first derivative are considered, we refer to this as simple Hermite (or osculatory) interpolation; when the values of higher derivatives are involved, the interpolating polynomial is known as full Hermite interpolating polynomial. If we want to represent this polynomial as the partial sum of a series, we need to write it in a suitable form, in a similar way that Lagrange polynomial must be written in the Newton form to reveal that it is the partial sum of the Newton series.

Hermite interpolating polynomial was used for solving boundary value problems for differential equations (see [2, 3, 12, 13]) and integral equation (in [11]), for approximating functions in topological fields [6], or even the reliability polynomial of a network (in [5]).

Our work was inspired by [7], where the functions are expanded into Newton interpolating series on p interpolation points and it is proved that some of the derivatives of the polynomial represented by the partial sum, calculated at the interpolation points, are equal to the derivatives of the function. This paper introduces the Hermite series, composed by p independent series and investigates sufficient conditions for their convergence. Particularly, any Hermite interpolating polynomial is obtained by adding partial sums of the p series.

2. HERMITE INTERPOLATING POLYNOMIALS

Consider p distinct points, $x_1 < x_2 < \dots < x_p$ in the interval $[a, b]$ and p nonnegative integers, $\alpha_1, \alpha_2, \dots, \alpha_p$. Denote by $\alpha = (\alpha_1, \alpha_2, \dots, \alpha_p)$. Let $f : [a, b] \rightarrow \mathbb{R}$ be a function of class $C^k[a, b]$, where $k \geq \alpha_i, i = 1, 2, \dots, p$. The *full Hermite interpolation problem* ([10], [4]) is the problem of finding a polynomial $H_\alpha(x)$ of degree at most

$$N = \alpha_1 + \alpha_2 + \dots + \alpha_p + p - 1$$

such that

$$(2.1) \quad H_\alpha^{(j)}(x_i) = f^{(j)}(x_i), \quad \forall j = 0, 1, \dots, \alpha_i, \quad \forall i = 1, 2, \dots, p.$$

Theorem 2.1. [1, 14] *Given the distinct points $x_1 < x_2 < \dots < x_p$, the nonnegative integers $\alpha_1, \alpha_2, \dots, \alpha_p$, and the arbitrary real numbers $f_i^{(j)}$, $j = 0, 1, \dots, \alpha_i, i = 1, 2, \dots, p$, there exists a unique polynomial $H_\alpha(x)$ of degree at most $N = \alpha_1 + \alpha_2 + \dots + \alpha_p + p - 1$ such that*

$$(2.2) \quad H_\alpha^{(j)}(x_i) = f_i^{(j)}, \quad \forall j = 0, 1, \dots, \alpha_i, \quad \forall i = 1, 2, \dots, p.$$

The expression of this polynomial (called **full Hermite interpolating polynomial**) is:

$$(2.3) \quad H_\alpha(x) = \sum_{i=1}^p \sum_{j=0}^{\alpha_i} f_i^{(j)} l_{\alpha,i,j}(x),$$

where, for any $j = 0, 1, \dots, \alpha_j$ and $i = 1, 2, \dots, p$,

$$(2.4) \quad l_{\alpha,i,j}(x) = u_{\alpha,i}(x) \frac{(x - x_i)^j}{j!} \sum_{k=0}^{\alpha_i-j} \frac{1}{k!} v_{\alpha,i}^{(k)}(x_i) (x - x_i)^k,$$

$$(2.5) \quad u_\alpha(x) = \prod_{i=1}^p (x - x_i)^{\alpha_i+1}, \quad u_{\alpha,i}(x) = \frac{u_\alpha(x)}{(x - x_i)^{\alpha_i+1}}, \quad v_{\alpha,i}(x) = \frac{1}{u_{\alpha,i}(x)}.$$

Theorem 2.2. *Let $x_1 < x_2 < \dots < x_p$ be distinct points in the interval $[a, b]$, $\alpha_1, \alpha_2, \dots, \alpha_p$ be nonnegative integers and $f : [a, b] \rightarrow \mathbb{R}$ be a function of class $C^k[a, b]$, where $k \geq \alpha_i, i = 1, 2, \dots, p$. Then the full Hermite interpolating polynomial, $H_\alpha(x)$ of degree at most $N = \alpha_1 + \alpha_2 + \dots + \alpha_p + p - 1$ verifying (2.1) can be written in the following form:*

$$(2.6) \quad H_\alpha(x) = \sum_{i=1}^p u_{\alpha,i}(x) \sum_{k=0}^{\alpha_i} \frac{(x - x_i)^k}{k!} \left(\frac{f(x)}{u_{\alpha,i}(x)} \right)_{x=x_i}^{(k)}.$$

Proof. By Theorem 2.1 we can write:

$$\begin{aligned}
 H_\alpha(x) &= \sum_{i=1}^p u_{\alpha,i}(x) \sum_{j=0}^{\alpha_i} \sum_{l=0}^{\alpha_i-j} f^{(j)}(x_i) \frac{(x-x_i)^{j+l}}{j! l!} v_{\alpha,i}^{(l)}(x_i) \\
 &= \sum_{i=1}^p u_{\alpha,i}(x) \sum_{j=0}^{\alpha_i} \sum_{k=j}^{\alpha_i} f^{(j)}(x_i) \frac{(x-x_i)^k}{k!} \binom{k}{j} v_{\alpha,i}^{(k-j)}(x_i) \\
 &= \sum_{i=1}^p u_{\alpha,i}(x) \sum_{k=0}^{\alpha_i} \sum_{j=0}^k f^{(j)}(x_i) \frac{(x-x_i)^k}{k!} \binom{k}{j} v_{\alpha,i}^{(k-j)}(x_i) \\
 &= \sum_{i=1}^p u_{\alpha,i}(x) \sum_{k=0}^{\alpha_i} \frac{(x-x_i)^k}{k!} \sum_{j=0}^k \binom{k}{j} f^{(j)}(x_i) v_{\alpha,i}^{(k-j)}(x_i) \\
 &= \sum_{i=1}^p u_{\alpha,i}(x) \sum_{k=0}^{\alpha_i} \frac{(x-x_i)^k}{k!} [f(x) v_{\alpha,i}(x)]_{x=x_i}^{(k)}
 \end{aligned}$$

and, since $v_{\alpha,i}(x) = u_{\alpha,i}(x)^{-1}$, the formula (2.6) is obtained. □

Theorem 2.3. [1, 4] *Let $x_1 < x_2 < \dots < x_p$ be distinct points in the interval $[a, b]$, $\alpha_1, \alpha_2, \dots, \alpha_p$ nonnegative integers and $f : [a, b] \rightarrow \mathbb{R}$ a function of class $C^{N+1}[a, b]$, where $N = \alpha_1 + \alpha_2 + \dots + \alpha_p + p - 1$. If $H_\alpha(x)$ is the corresponding full Hermite interpolating polynomial then, for any $x \in [a, b]$, there exists ξ such that $\min\{x_1, x\} < \xi < \max\{x_p, x\}$ and*

$$(2.7) \quad f(x) - H_\alpha(x) = \frac{f^{(N+1)}(\xi)}{(N+1)!} u_\alpha(x).$$

In the particular case when $\alpha = (n, n, \dots, n)$, $n = 0, 1, \dots$, we denote the full Hermite polynomial by $H_n(x)$. Using the notations

$$(2.8) \quad u(x) = (x-x_1)(x-x_2)\dots(x-x_p), \quad u_i(x) = \frac{u(x)}{x-x_i}$$

the expression (2.6) is written:

$$(2.9) \quad H_n(x) = \sum_{i=1}^p u_i(x)^{n+1} \sum_{k=0}^n \frac{(x-x_i)^k}{k!} \left(\frac{f(x)}{u_i(x)^{n+1}} \right)_{x=x_i}^{(k)}.$$

Notice that $H_n(x)$ is actually a polynomial of degree at most $np + p - 1$.

Corollary 2.4. *Let $f : [a, b] \rightarrow \mathbb{R}$ be an infinitely differentiable function and $a = x_1 < x_2 < \dots < x_p = b$ be distinct points in the interval $[a, b]$. For each $n = 0, 1, \dots$, we denote by $M_n = \max_{x \in [a, b]} |f^{(n)}(x)|$. If there exists a positive constant $\lambda > 0$ such that $M_n < \lambda^{n+1}$, for every $n = 0, 1, \dots$, then the sequence of full Hermite interpolating polynomials (2.9) uniformly converge to $f(x)$ on $[a, b]$.*

Proof. By applying Theorem 2.3 for $\alpha = (n, n, \dots, n)$, we can write, for any $x \in [a, b]$:

$$|f(x) - H_n(x)| \leq \frac{M_{np+p}}{(np+p)!} |(x-x_1)(x-x_2)\dots(x-x_p)|^{n+1}$$

$$\leq \lambda \frac{[\lambda(b-a)]^{np+p}}{(np+p)!} \rightarrow 0$$

hence the corollary follows. □

Remark 2.5. For $p = 2$, $x_1 = 0$, $x_2 = 1$ and $\alpha_1 = \alpha_2 = n$, the full Hermite interpolating polynomial can be written in the following form, called “Two-point Taylor formula” [2]:

$$(2.10) \quad H_n(x) = \sum_{j=0}^n \left[f^{(j)}(0)C_{n,j}(x) + (-1)^j f^{(j)}(1)C_{n,j}(1-x) \right],$$

where the polynomials $C_{n,j}(x)$, $j = 0, 1, \dots, n$, $n = 0, 1, \dots$, are defined by:

$$C_{n,j}(x) = (1-x)^{n+1} \sum_{k=0}^{n-j} \binom{n+k}{k} \frac{x^{k+j}}{j!}.$$

3. HERMITE INTERPOLATING SERIES

Given p distinct points, $x_1 < x_2 < \dots < x_p$, we consider the polynomials

$$(3.1) \quad \mu_{i,n}(x) = (x-x_i)^n u_i(x)^{n+1} = u(x)^n u_i(x),$$

for $i = 1, 2, \dots, p$, $n = 0, 1, \dots$, and the series of the form

$$(3.2) \quad \sum_{n \geq 0} a_{i,n} \mu_{i,n}(x),$$

where $a_{i,n} \in \mathbb{R}$, $i = 1, \dots, p$, $n = 0, 1, \dots$. Using the Weierstrass M -test we can prove the following sufficient condition of convergence for the series (3.2) and the series of k -derivatives,

$$(3.3) \quad \sum_{n \geq 0} a_{i,n} \mu_{i,n}^{(k)}(x).$$

Theorem 3.1. Let $a = x_1 < x_2 < \dots < x_p = b$. Denote by M the maximum absolute value of the function $u(x) = (x-x_1)(x-x_2)\dots(x-x_p)$:

$$M = \max_{x \in [a,b]} |u(x)| = \max_{x \in [a,b]} |(x-x_1)(x-x_2)\dots(x-x_p)|.$$

If the sequences $\{a_{i,n}\}_{n \geq 0}$ verify, for any $i = 1, 2, \dots, p$,

$$(3.4) \quad \limsup_{n \rightarrow \infty} \sqrt[n]{|a_{i,n}|} < \frac{1}{M},$$

then the series (3.3) is absolutely and uniformly convergent on $[a, b]$, for any $k = 0, 1, \dots$

Proof. We first study the case when $k = 0$. For any $x \in [a, b]$ we have:

$$|a_{i,n} u(x)^n u_i(x)| \leq |a_{i,n}| M^n (b-a)^{p-1}.$$

By (3.4) the series $\sum_{n \geq 0} |a_{i,n}| M^n (b-a)^{p-1}$ is convergent and the absolute and uniform convergence of the series (3.2) follows by Weierstrass M -test.

Now, let us suppose that $k \geq 1$. For any $x \in [a, b]$ we have:

$$\left| a_{i,n} [u(x)^n u_i(x)]^{(k)} \right| \leq |a_{i,n}| (pn+p-1)(pn+p-2)\dots(pn+p-k)(b-a)^{pn+p-k-1}$$

if $n = 0, 1, \dots, k$, and

$$\left| a_{i,n} [u(x)^n u_i(x)]^{(k)} \right| \leq |a_{i,n}| (pn + p - 1)(pn + p - 2) \dots (pn + p - k) M^{n-k} (b - a)^{pk+p-k-1}$$

if $n > k$.

Since

$$\begin{aligned} \limsup_{n \rightarrow \infty} \sqrt[n]{|a_{i,n}| (pn + p - 1)(pn + p - 2) \dots (pn + p - k) M^{n-k} (b - a)^{pk+p-k-1}} \\ = \limsup_{n \rightarrow \infty} \sqrt[n]{|a_{i,n}|} M < 1, \end{aligned}$$

it follows that the series $\sum_{n \geq 0} |a_{i,n}| (pn + p - 1)(pn + p - 2) \dots (pn + p - k) M^{n-k} (b - a)^{pk+p-k-1}$ converges, hence the series (3.3) is uniformly and absolutely convergent on $[a, b]$. \square

Remark 3.2. If the condition (3.4) is fulfilled for any $i = 1, 2, \dots, p$, then one can write:

$$\sum_{i=1}^p \sum_{n \geq 0} a_{i,n} \mu_{i,n}(x) = \sum_{n \geq 0} \sum_{i=1}^p a_{i,n} \mu_{i,n}(x).$$

Theorem 3.3. Let $a = x_1 < x_2 < \dots < x_p = b$ be p distinct points and $f(x)$ be a function infinitely differentiable on $[a, b]$ which can be written as the sum of the uniformly convergent series:

$$(3.5) \quad f(x) = \sum_{n \geq 0} \sum_{i=1}^p a_{i,n} \mu_{i,n}(x).$$

Then, for any $i = 1, 2, \dots, p$ and $n \geq 0$, the coefficients $a_{i,n}$ verify the formulas:

$$(3.6) \quad a_{i,n} = \frac{1}{u_i(x_i)} \left[\frac{1}{n!} \left(\frac{f(x)}{u_i(x)^n} \right)_{x=x_i}^{(n)} + \sum_{\substack{j=1 \\ j \neq i}}^p \frac{1}{(n-1)!} \left(\frac{f(x)}{u_j(x)^n (x-x_i)} \right)_{x=x_j}^{(n-1)} \right],$$

for $n = 1, 2, \dots$, and

$$(3.7) \quad a_{i,0} = \frac{f(x_i)}{u_i(x_i)}.$$

Proof. The formula (3.7) follows by simply observing that $f(x_i) = a_{i,0} u_i(x_i)$.

We can also remark that the partial sum of (3.5),

$$(3.8) \quad H_n(x) = \sum_{k=0}^n \sum_{i=1}^p a_{i,k} (x - x_i)^k u_i(x)^{k+1},$$

is the full Hermite interpolating polynomial of the function $f(x)$: it is a polynomial of degree at most $np + p - 1$ such that $H_n^{(k)}(x_i) = f^{(k)}(x_i)$, for any $i = 1, 2, \dots, p$ and $k = 0, 1, \dots, n$. For any $n \geq 1$ and $i = 1, \dots, p$, one can write

$$f(x) - H_{n-1}(x) = a_{i,n} (x - x_i)^n u_i(x)^{n+1} + (x - x_i)^{n+1} g_{i,n}(x),$$

where $g_{i,n}(x)$ is a continuous function, infinitely differentiable in the intervals $(x_i - \varepsilon, x_i)$ and $(x_i, x_i + \varepsilon)$. Then, since there exists the n -th derivative of the function $(x - x_i)^{n+1}g_{i,n}(x)$ at x_i and its value is 0, it follows that

$$(3.9) \quad a_{i,n} = \frac{f^{(n)}(x_i) - H_{n-1}^{(n)}(x_i)}{n! u_i(x_i)^{n+1}}.$$

We use the formula (2.9) to calculate $H_{n-1}^{(n)}(x_i)$. Since

$$H_{n-1}(x) = \sum_{i=1}^p u_i(x)^n \sum_{k=0}^{n-1} \frac{(x - x_i)^k}{k!} \left(\frac{f(x)}{u_i(x)^n} \right)_{x=x_i}^{(k)},$$

it follows that

$$\begin{aligned} H_{n-1}^{(n)}(x_i) &= \left[u_i(x)^n \sum_{k=0}^{n-1} \frac{(x - x_i)^k}{k!} \left(\frac{f(x)}{u_i(x)^n} \right)_{x=x_i}^{(k)} \right]_{x=x_i}^{(n)} \\ &+ \sum_{\substack{j=1 \\ i \neq j}}^p \left[u_j(x)^n \sum_{k=0}^{n-1} \frac{(x - x_j)^k}{k!} \left(\frac{f(x)}{u_j(x)^n} \right)_{x=x_j}^{(k)} \right]_{x=x_i}^{(n)} \\ &= \sum_{k=0}^{n-1} \binom{n}{k} \left[u_i(x)^n \right]_{x=x_i}^{(n-k)} \left[\frac{f(x)}{u_i(x)^n} \right]_{x=x_i}^{(k)} \\ &+ \sum_{\substack{j=1 \\ i \neq j}}^p n! \frac{u_i(x_i)^n}{(x_i - x_j)^n} \sum_{k=0}^{n-1} \frac{(x_i - x_j)^k}{k!} \left(\frac{f(x)}{u_j(x)^n} \right)_{x=x_j}^{(k)} \\ &= f^{(n)}(x_i) - u_i(x)^n \left(\frac{f(x)}{u_i(x_i)^n} \right)_{x=x_i}^{(n)} \\ &+ u_i(x_i)^n n \sum_{\substack{j=1 \\ i \neq j}}^p \sum_{k=0}^{n-1} \binom{n-1}{k} (n-k-1)! (x_i - x_j)^{k-n} \left(\frac{f(x)}{u_j(x)^n} \right)_{x=x_j}^{(k)}. \end{aligned}$$

Since $(n - k - 1)! (x_i - x_j)^{k-n} = \left[\frac{1}{x_i - x} \right]_{x=x_j}^{(n-1-k)}$, we obtain:

$$H_{n-1}^{(n)}(x_i) = f^{(n)}(x_i) - u_i(x_i)^n \left[\left(\frac{f(x)}{u_i(x_i)^n} \right)_{x=x_i}^{(n)} + n \sum_{\substack{j=1 \\ i \neq j}}^p \left(\frac{f(x)}{(x - x_i)u_j(x)^n} \right)_{x=x_j}^{(n-1)} \right]$$

and by replacing in equation (3.9), the formula (3.6) follows at once. □

Let $a = x_1 < x_2 < \dots < x_p = b$ be p distinct points in the interval $[a, b]$. If the series

$$(3.10) \quad \sum_{n \geq 0} \sum_{i=1}^p a_{i,n} \mu_{i,n}(x)$$

converges absolutely and uniformly to $f(x)$, then we say that the function $f(x)$ can be represented as a Hermite interpolating series. Based on Corollary 2.4, we present in Theorem 3.5

a sufficient condition such that an infinitely differentiable function and its derivatives can be represented as Hermite interpolating series.

Remark 3.4. There exist functions that can be represented as Hermite interpolating series, but are not differentiable. One such example is the function $f(x) = |x|$ which can be expanded in Hermite series on the interval $[-1, 1]$ taking as interpolation points $x_1 = -1$ and $x_2 = 1$ as follows:

$$(3.11) \quad f(x) = \sqrt{1 - (1 - x^2)} = \sum_{n=0}^{\infty} \frac{(-1)^{n-1}}{2^{2n}(2n-1)} \binom{2n}{n} (x+1)^n (x-1)^n,$$

and, denoting $\mu_{1,n}(x) = (x+1)^n (x-1)^{n+1}$ and $\mu_{2,n}(x) = (x-1)^n (x+1)^{n+1}$, one can write

$$f(x) = \sum_{n=0}^{\infty} \frac{(-1)^{n-1}}{2^{2n+1}(2n-1)} \binom{2n}{n} (\mu_{2,n}(x) - \mu_{1,n}(x)).$$

We notice that the series (3.11) is absolutely and uniformly convergent, by Weierstrass test, because $|x^2 - 1| \leq 1$ for all $x \in [-1, 1]$, and the series $\sum_{n=0}^{\infty} \frac{1}{2^{2n}(2n-1)} \binom{2n}{n}$ converges.

Theorem 3.5. Let $f : [a, b] \rightarrow \mathbb{R}$ be an infinitely differentiable function for which there exists a positive constant $\lambda > 0$ such that

$$(3.12) \quad |f^{(n)}(x)| < \lambda^{n+1}, \text{ for all } x \in [a, b], n = 0, 1, \dots$$

Then, for any p distinct points $a \leq x_1 < x_2 < \dots < x_p \leq b$ in the interval $[a, b]$, the functions $f(x)$ and $f'(x)$ can be represented as full Hermite interpolating series,

$$(3.13) \quad f(x) = \sum_{n \geq 0} \sum_{i=1}^p a_{i,n} \mu_{i,n}(x),$$

$$(3.14) \quad f'(x) = \sum_{n \geq 0} \sum_{i=1}^p a_{i,n}^{(1)} \mu_{i,n}(x)$$

and the coefficients of the derivative series are given by the formula:

$$(3.15) \quad a_{i,n}^{(1)} = (2n+1)a_{i,n} \sum_{\substack{j=1 \\ j \neq i}}^p \frac{1}{x_i - x_j} + \sum_{\substack{j=1 \\ j \neq i}}^p a_{j,n} \frac{1}{x_i - x_j} \left(n+1 - n \frac{u_j(x_j)}{u_i(x_i)} \right) + (n+1)a_{i,n+1}u_i(x_i),$$

for any $i = 1, 2, \dots, p$ and $n = 0, 1, \dots$

Proof. By applying Corollary 2.4 to the functions $f(x)$ and $f'(x)$ we obtain that the corresponding sequences of full Hermite interpolating polynomials (which are partial sums of the Hermite series (3.13), (3.14)) uniformly converge to $f(x)$, respectively $f'(x)$.

For $n = 0$ and $i = 1, 2, \dots, p$ we have:

$$\mu'_{i,0}(x) = \left[\prod_{\substack{j=1 \\ j \neq i}}^p (x - x_j) \right]' = \sum_{j=1}^p \prod_{\substack{k=1 \\ k \neq i, j}}^p (x - x_k) \cdot \frac{(x - x_i) - (x - x_j)}{x_j - x_i}$$

$$= \sum_{\substack{j=1 \\ j \neq i}}^p \frac{\mu_{j,0} - \mu_{i,0}}{x_j - x_i} = \left(\sum_{\substack{j=1 \\ j \neq i}}^p \frac{1}{x_i - x_j} \right) \mu_{i,0} + \sum_{\substack{j=1 \\ j \neq i}}^p \frac{1}{x_j - x_i} \cdot \mu_{j,0}$$

For $n \geq 1$ we apply the formulas (3.6)-(3.7) for the function $f(x) = \mu'_{i,n}(x)$

$$\begin{aligned} \mu'_{i,n}(x) &= n(x - x_i)^{n-1} \prod_{\substack{j=1 \\ j \neq i}}^p (x - x_j)^{n+1} + (n + 1) \sum_{\substack{j=1 \\ j \neq i}}^p (x - x_i)^n (x - x_j)^n \prod_{\substack{k=1 \\ k \neq i, j}}^p (x - x_k)^{n+1} \\ &= \sum_{k=0}^n \sum_{j=1}^p \alpha_{j,k} \mu_{j,k}(x). \end{aligned}$$

We remark that, if $F(x)$ is an infinitely differentiable function in a neighborhood of x_i , then

$$(3.16) \quad \left[(x - x_i)^n F(x) \right]_{x=x_i}^{(k)} = \begin{cases} 0 & \text{if } k < n \\ n! \binom{k}{n} F^{(k-n)}(x_i) & \text{if } k \geq n \end{cases}$$

We can also notice that $\mu'_{i,n}(x)$ can be written:

$$(3.17) \quad \mu'_{i,n}(x) = n(x - x_i)^{n-1} u_i(x)^{n+1} + (n + 1) \sum_{\substack{j=1 \\ j \neq i}}^p (x - x_i)^n \frac{u_i(x)^{n+1}}{x - x_j}$$

as well as

$$(3.18) \quad \begin{aligned} \mu'_{i,n}(x) &= n \frac{(x - x_j)^{n+1} u_j(x)^{n+1}}{(x - x_i)^2} + (n + 1) \sum_{\substack{k=1 \\ k \neq i, j}}^p \frac{(x - x_j)^{n+1} u_j(x)^{n+1}}{(x - x_i)(x - x_k)} \\ &\quad + (n + 1) \frac{(x - x_j)^n u_j(x)^{n+1}}{x - x_i}, \end{aligned}$$

for $j \neq i$.

It follows that $\alpha_{j,k} = 0$ for any $k < n - 1$ and $j = 1, 2, \dots, p$.

For $k = n - 1$, using (3.16)-(3.18), we have $\alpha_{j,n-1} = 0$ for $j \neq i$ and

$$\alpha_{i,n-1} = \frac{1}{u_i(x_i)} \cdot \frac{1}{(n - 1)!} \left(\frac{\mu'_{i,n}(x)}{u_i(x)^{n-1}} \right)_{x=x_i}^{(n-1)} = n \cdot u_i(x_i).$$

For $k = n$ we have:

$$\begin{aligned} \alpha_{i,n} &= \frac{1}{u_i(x_i)} \left[\frac{1}{n!} \left(\frac{\mu'_{i,n}(x)}{u_i(x)^n} \right)_{x=x_i}^{(n)} + \sum_{\substack{j=1 \\ j \neq i}}^p \frac{1}{(n - 1)!} \left(\frac{\mu'_{i,n}(x)}{u_j(x)^n (x - x_i)} \right)_{x=x_j}^{(n-1)} \right] \\ &= \frac{1}{u_i(x_i) n!} \left[n(x - x_i)^{n-1} u_i(x) + (n + 1) \sum_{\substack{j=1 \\ j \neq i}}^p (x - x_i)^n \frac{u_i(x)}{x - x_j} \right]_{x=x_i}^{(n)} \end{aligned}$$

$$= \frac{1}{u_i(x_i)n!} \left[n! \binom{n}{1} u'_i(x_i) + (n+1)! \sum_{\substack{j=1 \\ j \neq i}}^p \frac{u_i(x_i)}{x_i - x_j} \right] = (2n+1) \sum_{\substack{j=1 \\ j \neq i}}^p \frac{1}{x_i - x_j}$$

and, for $j \neq i$,

$$\begin{aligned} \alpha_{j,n} &= \frac{1}{u_j(x_j)} \left[\frac{1}{n!} \left(\frac{\mu'_{i,n}(x)}{u_j(x)^n} \right)_{x=x_j}^{(n)} + \sum_{\substack{k=1 \\ k \neq j}}^p \frac{1}{(n-1)!} \left(\frac{\mu'_{i,n}(x)}{u_k(x)^n(x-x_j)} \right)_{x=x_k}^{(n-1)} \right] \\ &= \frac{1}{u_j(x_j)} \left[\frac{n+1}{n!} \left(\frac{(x-x_j)^n u_j(x)}{x-x_i} \right)_{x=x_j}^{(n)} + \frac{n}{(n-1)!} \left(\frac{(x-x_i)^{n-1} u_i(x)}{x-x_j} \right)_{x=x_i}^{(n-1)} \right] \\ &= \frac{1}{u_j(x_j)} \left[(n+1) \cdot \frac{u_j(x_j)}{x_j - x_i} + n \cdot \frac{u_i(x_i)}{x_i - x_j} \right] \\ &= \frac{1}{x_j - x_i} \left(n+1 - n \cdot \frac{u_i(x_i)}{u_j(x_j)} \right). \end{aligned}$$

We denote by

$$S_i = \sum_{\substack{j=1 \\ j \neq i}}^p \frac{1}{x_i - x_j}.$$

We proved that

$$(3.19) \quad \begin{aligned} \mu'_{i,n}(x) &= (2n+1)S_i \mu_{i,n}(x) + \sum_{\substack{j=1 \\ j \neq i}}^p \frac{1}{x_i - x_j} \left(n+1 - n \frac{u_i(x_i)}{u_j(x_j)} \right) \mu_{j,n}(x) \\ &\quad + n u_i(x_i) \mu_{i,n-1}(x) \end{aligned}$$

and, since

$$f'(x) = \sum_{n \geq 0} \sum_{i=1}^p a_{i,n} \mu'_{i,n}(x) = \sum_{n \geq 0} \sum_{i=1}^p a_{i,n}^{(1)} \mu_{i,n}(x),$$

the formula (3.15) follows. □

Corollary 3.6. *Let $U = \text{diag}(u_1(x_1), u_2(x_2), \dots, u_p(x_p))$. For $n = 0, 1, \dots$, we denote by $a_n = (a_{1,n}, a_{2,n}, \dots, a_{p,n})^T$, $a_n^{(1)} = (a_{1,n}^{(1)}, a_{2,n}^{(1)}, \dots, a_{p,n}^{(1)})^T$ and*

$$A_n = \begin{pmatrix} (2n+1)S_1 & \frac{1}{x_1-x_2} \left(n+1 - n \frac{u_2(x_2)}{u_1(x_1)} \right) & \dots & \frac{1}{x_1-x_p} \left(n+1 - n \frac{u_p(x_p)}{u_1(x_1)} \right) \\ \frac{1}{x_2-x_1} \left(n+1 - n \frac{u_1(x_1)}{u_2(x_2)} \right) & (2n+1)S_2 & \dots & \frac{1}{x_2-x_p} \left(n+1 - n \frac{u_p(x_p)}{u_2(x_2)} \right) \\ \vdots & \vdots & \ddots & \vdots \\ \frac{1}{x_p-x_1} \left(n+1 - n \frac{u_1(x_1)}{u_p(x_p)} \right) & \frac{1}{x_p-x_2} \left(n+1 - n \frac{u_2(x_2)}{u_p(x_p)} \right) & \dots & (2n+1)S_p \end{pmatrix}$$

Then, for any $n = 0, 1, \dots$, we have:

$$a_n^{(1)} = A_n a_n + (n+1)U a_{n+1},$$

for any $n = 0, 1, \dots$

Moreover, if

$$f^{(k)}(x) = \sum_{n \geq 0} \sum_{i=1}^p a_{i,n}^{(k)} \mu_{i,n}(x),$$

then

$$a_n^{(k+1)} = A_n a_n^{(k)} + (n+1) U a_{n+1}^{(k)},$$

for any $n = 0, 1, \dots$, $k = 1, 2, \dots$

REFERENCES

- [1] R.P. Agarwal, P.J.Y. Wong, *Error inequalities in polynomial interpolation and their applications*, Kluwer Academic Publishers, 1993.
- [2] F.A. Costabile and A. Napoli, *Solving BVPs using two-point Taylor formula by symbolic software*, J. Comput. Appl. Math. **210** (2007), 136-148.
- [3] F.A. Costabile and A. Napoli, *Collocation for high order differential equations with two-points Hermite boundary conditions*, Appl. Numer. Math. **87** (2015), 157-167.
- [4] P. Davis: *Interpolation and approximation*, Dover Publication, 1975.
- [5] L. Dăuș and M. Jianu, *Full Hermite interpolation of the reliability of a hammock network*, Applicable Analysis and Discrete Mathematics **14(1)** (2020), 198-220.
- [6] L. Dăuș, G. Groza and M. Jianu, *Full Hermite interpolation and approximation in topological fields*, Mathematics, 10(11) (2022), 1864.
- [7] G. Groza and N. Pop, *Approximate solution of multipoint boundary value problems for linear differential equations by polynomial functions*, J. Difference Eq. Appl. **14(12)** (2008), 1289-1309.
- [8] G. Groza, M. Jianu and N. Pop, *Infinitely differentiable functions represented into Newton interpolating series*, Carpathian J. Math., **30(3)** (2014), 309-316.
- [9] G. Groza and M. Jianu, *Polynomial approximations of solutions of boundary value problems for ODEs which arise from engineering*, Proc. of the International Conference-RIGA, Bucharest, May 19-21, 2014, 131-143.
- [10] C. Hermite, *Sur la formule d'interpolation de Lagrange*, J. Reine Angew. Math., **84** (1878), 70-79.
- [11] N. Karamollahi, M. Heydari, G.B. Loghmani, *Approximate solution of nonlinear Fredholm integral equations of the second kind using a class of Hermite interpolation polynomials*, Math. Comput. Simul., **187** (2021), 414-432.
- [12] N. Karamollahi, M. Heydari, G.B. Loghmani, A.K. Verma, *An explicit representation of the three-point Hermite interpolant for the numerical solution of singular boundary value problems*, Appl. Numer. Math., **182** (2022), 265-284.
- [13] J.L. Lopéz, E.P. Sinusia and N.M. Temme, *Multi-point Taylor approximations in one-dimensional linear boundary value problems*, Appl. Math. Comput, **207(2)** (2009), 519-527 .
- [14] A. Spitzbart, *A generalization of Hermite's interpolation formula*, Amer. Math. Monthly, **67** (1960), 42-46.

DEPARTMENT OF MATHEMATICS AND COMPUTER SCIENCE, TECHNICAL UNIVERSITY OF CIVIL ENGINEERING BUCHAREST, BLVD. LACUL TEI 122-124, 020396 BUCHAREST, ROMANIA

Email address: marilena.jianu@utcb.ro